Math 488/688 Exam 1 Version A
1. Solve the first order partial differential equation

2Ug +3uy =5—1x
u{0,y) = cosy.
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2. (Given the partial differential equation
Ut = QUgz — U
1(0,¢) = 0
w(B,t) = —cos3t
w(z,0) =0
ugl(z,0) = 0.

Write u(z,t) = w(z,t) + v{z,t) and find a function w such that the resulting differ-
ential equation for v has homogeneous boundary conditions.
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3. Solve the second order partial differential equation

ug(0,1) = 0

Uy = Ugpr + COSTT
{ uz{3,t) =0

| r | u{x,0} = 5.
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4. [Extra Credit and for Math 666] Express x(z — 1) on the interval [0, 1] as the series
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